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/* P4_.3 compound i1f statement */

#include <stdio.h>

main()
{
int a, b, c;
printfF(““Enter 2 Integer No. : “);
scanf(“%d %d” , &a, &b);
1T (a>b)

printf(“a — b = %d\n”, a — b);
else it (a < b)

printf(“a + b
else

printf(“a * b = %d\n”, a * b );

%d\n “, a + b);

}

Running program:
Enter 2 Integer No. : 20 20
a*b =400
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switch (variable/expression) {
case valuel : statement;
case value2 : statement;

[default : statement;]
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/* P4.4 switch statement */

#include <stdio.h>
main()
{ -
int n;
printfF(*““Enter a number (1 — 3) : “);
scanf(“%d” , &n);
switch (n) {
case 1 : printf(*“One\n”);
case 2 : printf(““Two\n’);
case 3 : printf(“Three\n™);
default : printf(*“Other\n”); }

}

Running program:

Enter a number (1 — 3) : 2
Two

Three

Other
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/> P4.5 switch statement */

#include <stdio.h>
main(Q)
{ -
int n;
printf(“Enter a number (1 — 3) : “);
scanf(“%d” , &n);
switch (n) {

case 1 :
printf(*“One\n”);
break;

case 2 :
printf(*“Two\n’");
break;

case 3 :

printf(*“Three\n”);
break;
default : printf(“Other\n”); }

}

Running program:
Enter a number (1 — 3) :© 2
Two
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/* P 4.6 switch statement for similar value */
#include<stdio.h>
#include<conio.h>
main()
{
char ch;
printf(“Enter a letter :© “);
ch = getche();
switch (ch) {
case “A”’
case “E”’
case “I”’
case “0’
case “U-’
case “Y”
case ‘a
case ‘e’
case “i’
case ‘o’
<y’
“y

case
case o
printf(*“\n%c is a vowel\n”, ch);
break;
default :
printf(*“\n%c is a consonant\n” , ch);

}
}

Runnina bpbroaram
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whille (condition) statement;
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whille (condition) {
statementl;
statement?;

} =



